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For all questions, answer choice “(E) NOTA” means that none of the above answers is
correct.

1 2 4 2 2 1 2-6 4-6 8-3 -4 -2 5
1. A) 2A-3B=2|-3 0 -1|-3/-1 1 -3|=|-6+3 0-3 -2+9|=|-3 -3 7 |.The
2 1 2 0 1 2 4-0 2-3 4-6 4 -1 -2
correct answer is A.
1 -2 4 2 2 1 3+8 —6+8 12+4 11 2 16

2. B)3A+4B=3|3 0 1 (+4/-2 1 -1|=/9-8 0+4 3-4|=|1 4 -1|.The
2 -1 -2 1 -2 2 6+4 -3-8 —6+8 10 -11 2
correct answer is B.

} . It is easy to see

4x 4 2y+8 2z+2x
3. A) From given equation, we have{ y} { y

4z -4 -2x+10 2-2x
—4=2-2Xx=>x=3,42=10-2x=12=1,4x=2y+8=y=2. Therefore, x+y—2z=3.

The correct answer is A.

4. D) It is easy to see
o1 2|4 1[4 171 2] [1 2][4 17 [4 571 2
AB+B A= + = +
3 1||5 2| |5 —2||3 1| |3 1|5 2| |1 -2||3 1
_[14 8] [19 13]_[38 10
17 1] |-5 0o |12 1]

The correct answer is D

X, —2X, +2X, =7 X, 1
5. E) Solve { x, —3X, +4x, =12 , we have | X, |=| -1 |=> X+ X,* + x,° = 6 . No correct answer
2X, —5X, +3%, =13 X, 2

provided. Therefore, the correct answer is E.

1 2jla b a+2c b+2d 2 1 a b -2 -3 )
6. D) = = = = , (@+b+c+d)"=1.
1 3||c d a+3c b+3d 4 3 c d 2 2

Therefore, the correct answer is D.
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2 1 112 11 22 22 5 2 1 1]|22 2 5 2° 12 18
7 C) A°=|0 2 1|0 2 1|=|0 2* 2 A=[0 2 1]/0 22 22|=l0 20 12
0 0 2{|0 0 2 0o 0 2° 0 0 2|0 0 2° 0 0 2°

Therefore, the correct answer is C.

8 B) AB = cosx —sinx|cosy —siny| |cos(x+y) —sin(x+Yy)
. “|sinx cosx ||siny cosy | |sin(x+y) cos(x+y)

BA_ {cos y —sin y}{cos X —sin x} ~ {cos(x+ y) —sin(x+Y)

. . ) AB—-BA=0
siny cosy ||sinx cosx sin(x+y) cos(x+Y)

Therefore, the correct answer is B.

LI
271 377 470 X,
1 1 1
9. A) XA=X = §x1+§x2+§x3 =| X,
11 X3
§X2+ZX3

6X, +4X, + 3%, =12x 4X, + 3%, = 6X; %= 2%

3%, +2X, +3X; =6X, = 3% +3%X;, =4x, = xzz%:ﬁ:Z

X
4x, + 3%, =12x, 4x, =9X, X, =x, :
Therefore, the correct answer is A.
1 2 3 3 2 3 0 2 3
10. C)A=|4 5 6|0|6 5 6|J|0 5 6| Rank(A)=2
7 8 9 9 8 9 0 8 9
Therefore, the correct answer is C.
21100 1 2 1 00 1 1 0 O
11. A)A:I:112010D0—11—110 -1 1 -1 1 0
21 1001 0 3 -1 -2 01 -4 1 -3 1
1203 8 1) [; 50 1 1 3] 113
4 4 4 4 4 4 4 4
Jlo 10 -2 1 Liglor o 2 L L3 L2
4 4 4 4 4 4 4 4
00 1 -+ 3 1y, 1 3 1 131
i 4 4 41 | 4 4 4 | . 4 4 4 |
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12.

13.

14.

15.

16.

17.

18.

19.

2113
4 4 4 1 -1 3
a 3 1 1 )
AN = Z _Z _Z =| 3 -1 -1/|. Therefore, the correct answer is A.
13 g s
| 4 4 4 |
[[-1 0 6 0 6 -1] |
-2 - -1 1 -1 -2
1 2 1 1 6 -13
2 1 1 1 1 2
B) A=| 6 -1 0 |= cofactors(A)=|— - =0 0 O
-2 -1 -1 - -1 -2
-1 -2 -1 1 -13

el o 64

Therefore, the correct answer is B.

1-4 0 2
C)|A-All=| 3 1-4 5 |=(1-2)*(8—4)+30-29(1—A) m
2 5 8-4
=—-A1*+104* +124+9

Therefore, the correct answer is C.

D) tr(A) =1+3+1+3=8. Therefore, the correct answer is D.

1-4 2 1
E)|A-Al|=| 3 4-12 2
4 8 2-1
=(1-A)(2-A)(4—2)+24+16—-4(4— 1) —6(2— 1) —16(1— 1)
The coefficient of term A%is A, + A, + 4,=7. No correct answer provided so the correct answer is E.

6-5 -1]|v A 1 .
A) (A-51)V = =0= =| |. The correct answer is A.
2  3-5]V, v, 1

B) Suppose VIU =12+20+34=14. The correct answer is B.

C) Suppose V xU =(2-2—4-0 4-3-1.2 1.0-2-3)=(4 10 -6). The correct answer is C.

D) 3a°+2=14=a’ =4 = a=+2. The correct answer is D.
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UV _6+3-2_1 0 =" The correct answer is A.

UV Viavia 23

20. A) cosé =

2. B)V=(-1 4 2)ontoU=(1 0 3):L¥U=_jli0%(1 3):(1 0 gj

The correct answer is B.

Uy -1+2 1

ul V2 V2

22. C)V=(1 2)ontoU=(-1 1)=

The correct answer is C.

10
23. DA :(0 1] . The correct answer is C.

=-5+6-2=-1. No correct answer provided. The correct

2 3 o3 2
24, E)det(A):‘ ‘_2‘ H ‘

3 2 1 2 |1 3
answer is E.
25.  Thrown out P} et—f{=x*—5x+2and
1 01 O 10 1 04 O 1 0 -2 0
2 52 5 2 5 2502 0 01) (2 2)
answer-is-D-

26.  Thrown out &)

27.  B)VIU =2(3+Yy)+ y—x+4(x—g) =3y+3x=0. The correct answer is B.

1
28. A)%Z 2 1:%(2+6—8—3):—2.Thecorrectanswer is A.

29. A)|x 2 1=2+2x-y+2-2-xy=0=(x+1)(y—2)=0 . The correct answer is A.
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30. B) ‘AA’l‘ =1= ‘A’l‘ =%, Therefore, ‘4A’1‘ :43‘A’1‘ =47 The correct answer is B.



